
REVISION  FOR  HALF  YEARLY  EXAM

CLASS - I  ( MATHS )

1)  Which  is  the  smallest  number –

a)  15                       b)  50 c) 100

2)What  is  the   number  name of 35

a) Fifty  three        b)  Thirty  five     c) none

3) Which   number  is  missing  25 , 26 ___ , 28 , 29

a)  25 b) 27 c)  26

4) What  will  come next –

120  ,  121 ,  122  , _____, _____.

a)  123  , 124            b) 124  , 125       c) 125 , 126

5)  After  number  of  35 is

a)  34 b) 36                  c)  37

6) Before   number  of 40 is –

a) 41 b) 40                   c) 39

7) Which  is the  largest  number –

a) 10                        b) 20                       c) 30

8) When  we arranged   number in  biggest  to smallest  number are  called –

a) Ascending  order          b) Descending  order          c) none

9)  Which  is  the  numeral  of forty  five-

a) 54                                 b) 45                   c) 40

10) Which  number comes  between   29  and  31 –

a)  30 b) 29                          c) 31

11) 2 ten  +  4  ones = ______.

a)  42 b) 24                   c) none

12) When  we  write  number in terms  of  tens  and  ones  it is called –

a) Abacus b) Addition          c) Expanded form

13 ) Place  value  of  digits in 54 is

a)  5 ones  4 tens                b)  4 ones  5 tens     c) none

14 )  Addition   means –

a)  Take   away                 b) put together        c) none



15) Symbol  of  addition  is –

a) - b) +                                c) x

16)  What  is  the  sum  of  6 +  4 = ___.

a)  11                                    b) 10 c) 9

17)  Ram  has  6  pencils he buy  3 more pencils . How many crayons  does he have

now ?

a)  10                                      b) 11                           c) 9

18)  5 + 0 =_____

a)  5                                       b) 0                            c) none

19)  Subtraction  mean –

a)  put together b) Take  away c) none

20)  7 - 7 =  0

a) True b) False                          c) none

21 )  8 - 4 =  ____

a)   4                                             b)  0                                 c)  none

22) When  we  substrate  any number from  zero the answer  will  be –

a) itself                                          b) zero                              c) none

23 ) Tina  has   8 flowers .  she  gives  2  flower to  mina  . How  many  flower does
she have  now?

a)  5                                                b) 7                                      c) 6

24 ) Which   number  Is 1 more than  20-

a)  19                                               b)  21                                    c) 22

25 ) Put  the  correct  sign (  <   ,  >  , = )

45  _____   45

a)  <                                                 b)  > c) =

ANSWER - SHEET   1) a  ,  2) b ,  3) b,   4)a ,  5) b , 6) c,   7) c , 8) b ,  9) b  , 10) a

11 ) b ,  12 ) c ,  13 ) b ,  14 ) b ,  15 ) b ,  16) b ,  17) c , 18) a , 19 ) b , 20) a ,  21 ) a

22) a , 23) c ,  24 ) b ,  25 ) c


